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ONE MARK QUESTIONS
1. Write the principal value of
() sin”’ (- “;) ()  cos” (V3/2)
(i) tan"(— %) (iv) cosec™ (-2)
v oot (‘i@) vi) sec” (-2).
2. Whatis the value of the following functions (using principal value)
0 (@)@ m s (-D)-wr(D)
(i) tan”' (1) = cot™ (-1) (iv) cosec™ (V2)+ sec'(VZ)

(v} tan' (1) +cor’ (1) +sin” (1).vi)  sin™’ (sin “?")

3
(vi) tan™’ (tans—:-) (vili) cosec™’ (cosec—;)

3. Iftan'x+tan"'y= ‘T" find cot™” x + cot™ y.
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Find the values of the following

N e

(iii) tan (005-1%] (iv) sin™ {cos[sin"?]}
Evaluate the following

(i) sin(2sin™ (0.6)) (ii) sin (2tan™ (0.75))
o 45 a4, B
(iii) sin [2 cos [ 15)) (iv) tan LECOS 1L_3—U

Iftan”x +tany =™ | xy < 1, then the value of x + y + xy.

If 3 tan'x + cot 'x = =, then find the value of x.
yond L &
If cos(sm 1§+cos 1x) =0, then find the value of x.

If sin”x + sin”'y = &, then find the value of cos™'x + cos™.

2
If cos™'a + cos™B + cos™'y = 3x, then find the value of a(a + ) + B(a + ) + y(o + B).
If tan"x — cot'x = tan™’ [i] , the find the value of x:
3

Find the value of tan® (sec '2) + cot’ (cosec™'3)
Evaluate sin {cot™'(cos (tan"'1))}
If a < 2sin"'x + cos™'x < b, then find the value of a and b.

Solve cos™'(sin (cos'x) =

w|A

Write the value of tan [ 2tan ! %)

Write the value of Sec™ (sec ( _8_")J
5



TWO MARK QUESTIONS

1. Find the value of the following

0 () oo (5] e ()
(iiy sin™ (Sin%n)ﬂos—l (cos%ﬂ)

(iii) sin {;_sm I[_%)}

(iv) tan™ (tan%n): cos™ (cosjﬁ—n]

2. Simplify
7 —1 sinx
® an [l+cosx
(i)  cot” [ : ] x<—1
x° =1
(iil) cos [cos"[#) | 5]
2 6
- s ol &
(iv) tan [zcos (\/ﬁ):l
3 Simplify : sin™' {m%],-%<x<§
4 MARK QUESTIONS

v1+cosx + V1—cosx

i —1
1.  Showthat: tan L’W — Vi-cosx) 4

T+ %3 x € [0, m]
2.
Prove that:

t (\l1+x2+\/ —xi) + cos L2
bbbl 0 I el x
1+x2=\1=x2 4

3.
Prove that:
tan[E +Ztan™? (ﬁ)] + tan[£ —Ztan™? (5)] = BVArEh:
42 b 4 2 b b
4,
Prove that tan (—:—:— ; cos’ +tan(4 < —-cos b _22
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ANSWERS
ONE MARK QUESTIONS

=3 G )= (= w5
(i) 0 (ii) _3—" (iii) —% (Iv)%
V7 (vi) g (vil) =X (Viii) :—'
/5
(i) 1 (i)~ (i) -g )
y s o120 o B
(11) 0.96 (ii) 0.96 (iii) 169 (iv) =
x=1
_2
X=3
% 10. 6 1. x=3
11 13. |2
3
a=0,b=n 15. X= i§_
2
5/12 17. 21
5
TWO MARK QUESTIONS
g (i) (iii) 1 (iv)
X i _1 b \/ﬁ—S
> (i) t—sec™ x (iii) =1 (iv) 5
L 7. &
4 4
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